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SHEL 2 11 5.50
SESN 4 20 5.00
SFA 2 7 3.50
X HA| 2 6 3.00
oD LA B2 1 1 1.00
(MAEZ) SHT 2 1 0.50
g 1 6 6.00
T 1 6 6.00
i 1 1 1.00
ChFat 1 2 2.00
FEEE 1 21 21.00
HFEA| 2 97 48.50
SFA 2 43 21.50
MEA| 3 28 9.33
XA SHZ 2 28 14.00
N2z ;lj';; '
SFh 1 17 17.00
i 1 14 14.00
=48 1 14 14.00
X & M K HA| 1 3 3.00
(ZHOf 21 =287 1 2 2.00
SHEL 7 36 5.14
HFA 5 71 14.20
AL ST 1 11 11.00
HAOS - " HHA| 2 10 5.00
27 1 7 7.00
ChFat 1 8 8.00
T AHE O Q1) FEEE 1 5 5.00
FEEE 6 54 9.00
SESN 16 249 15.56
M A 14 106 7.57
22+ 1 10 10.00
Atz S X SHF 5 37 7.40
gdsT 3 29 9.67
NS 7 79 11.29
Il Fd e 1 6 6.00
Atz EX|95 =49 1 16 16.00
FEEE 1 4 4.00
HBFA| 2 3 1.50
Atz =X HHA| 1 1 1.00
(o 21y SET 3 7 2.33
T 1 1 1.00
=87 1 1 1.00
Atz S X ESESN 2 4 2.00
MA5T) HIH A 1 0 0.00
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SESN 3 40 13.33
MEA 3 15 5.00
A2 AbM gdsT 1 3 3.00
R 3 23 7.67
=49 3 17 5.67
AFA (EO 21 HHEA| 1 1 1.00
FEEE 7 8 1.14
HFA 12 90 7.50
EFA 2 14 7.00
2w dea : 750
SHT 2 9 4.50
gds 2 3 1.50
CHF 2 2 1.00
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HFA 5 63 12.60
o167 K HA| 5 33 6.60
SET 1 10 10.00
R 1 10 10.00
ChFt 4 25 6.25
FEEE 8 31 3.88
olutst D j{f*l 4 27 6.75
ST 3 19 6.33
[ At 2 10 5.00
FEEE 12 102 8.50
HFEA| 14 128 9.14
SFA 1 8 8.00
Ytts A M A 5 56 11.20
SHT 4 49 12.25
ET 1 11 11.00
=ojga jl At 2 15 7.50
SHEL 1 10 10.00
BEON 5 33 6.60
SFA 1 6 6.00
E HHA| 2 10 5.00
HeH 1 5 5.00
i 2 8 4.00
CHF 1 5 5.00
FEEE 5 31 6.20
HBFA| 2 22 11.00
H2ed 1 8 8.00
=X9g AEIXLRA SHT 4 22 5.50
T 2 15 7.50
L B 2 8 4.00
ChFat 1 7 7.00
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SESN 1 16 16.00

SFA 1 8 8.00

=X95 z 4 X HA| 2 9 4.50
i 2 7 3.50

sy 1 11 11.00

FEEE 8 67 8.38

HFA 15 148 9.87

EFA 5 51 10.20

K HA| 5 55 11.00

w7193 2 d =8z 4 20 5.00
o i 1 21 21.00

T 6 49 8.17

L 2 11 5.50

ChF 2 9 4.50

=RralESqv Rul)) MHA| 1 0 0.00

FE8E 1 20 20.00

AMEEoZ AERd HBFEA| 1 21 21.00
=48 1 15 15.00

FEEE 4 21 5.25

HFEA 5 59 11.80

K HA| 5 24 4.80

HeH 2 18 9.00

std9a Udtsty 282 1 5 5.00
T 3 30 10.00

[ At 3 30 10.00

=87 1 7 7.00

CHFat 1 3 3.00

ZAA = HFEA| 2 22 11.00

UBE = =gl 117 367 3.14

SEEE 2 0 0.00

ZHES ST 1 1 1.00

ONEN=ES)) ™ 1 0 0.00

=9 1 0 0.00

= s 51 220 4.31

FEEE 1 3 3.00

N Eiil 6 33 5.50
ST 3 16 5.33

K HA| 3 11 3.67

H27 1 4 4.00
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e 1 2 2.00

T 1 7 7.00

L 1 5 5.00

=8 1 3 3.00
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